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Ï1-4Þ&155, Ï5-6Þ&205, �b�M»6!î�

1. Ø»�ºÎãJó1��=�_r, À�Ý¸óθÎá, 
×ÑJó�kl�H0 :

θ = θ0, vs. Ha : θ = θ1, Í�θ1 > θ0
Þ�Â�Bã�^2Ì?ÕÝn¸�º�_
rX1, · · · , Xn, ���UMPl��

2. Ø2¥kÝ�Íß®�ØËéu�n, ¸à9Kg¡ºû*, �'gó
bN (µ, σ2)5µ, Í�σ2
Îá�ã8Í�n�@�, �ÿ¸àgó�øÍ¿
í168.479(g), øÍýã-12.851(g)����µ�×99%*ä  �

3. Ø�p�½Å8, EØ4ÈÞ�Ó��B�^ãø"®1,000�&Ó, ÿÕ420�

Y¹��5½¿à(3.2)C(3.5)P, ÿÕY¹f£p�×95%*ä  (O��óÏ
Þ�)�

4. Ì?Ø232F NFsßÝ�Êgó, �ÿì�óA:

0, 2, 3, 1, 3, 4, 2, 1, 2, 2, 1, 0, 3, 3, 3, 2,

4, 1, 2, 4, 2, 2, 1, 5, 1, 3, 2, 0, 3, 2, 2, 1�

�3α = 0.05�ì, l�H0: N^�Êgób®�5µ�

5. Þì�42�óA5W[0, 40), [40, 50), [50, 60), [60,∞)4N��3α = 0.05�ì, l
�H0: óAÙ�Γ(20, β)5µ, Í�β¬Î��:

69, 70, 40, 35, 59, 40, 82, 48, 49, 35, 60, 59, 55, 46,

78, 77, 49, 60, 37, 38, 56, 27, 46, 47, 88, 44, 52, 46,

70, 69, 77, 41, 43, 75, 70, 37, 55, 56, 62, 28, 58, 69�

6. kl�H0: ó.��Ý?û, EÙ�.���·¶P-², �ÿì�óA:

EÙ�.���·¶\ó.�� ± û; {

± 63 42 15

û; 58 61 31

{ 14 47 29

�3α = 0.01�ì, �×l��


